
 
 

7UDGLWLRQDO�$UFKHU\�$XVWUDOLD 
1DWLRQDO�0XVWHU������5HVXOWV 

 

0HQ¶V�/RQJERZ� 
�VW�'DYH�3HQGHU � �QG�*HRII�%ODNH��%ODNH\� �UG�$QGUHZ 0F*UHJRU 

 

0HQ¶V�+LVWRULFDO� 
�VW +RZDUG�2¶&RQQHOO ��QG 'DOH�0DUVK �UG *OHQQ�0F0DKRQ 

 

0HQ¶V�$VLDWLF� 
�VW %UXFH�3DUU 

 

0HQ¶V�+\EULG� 
�VW *DU\�3HQVKRUQ����������QG�&KULV &OHUNH  �UG�-DVRQ�&KDSPDQ 

 

0HQ¶V�5HFXUYH� 
�VW &OHYH�:RRG ����� �QG�0LFKDHO 0XUSK\  �UG�9LFWRU 9LF�1RODQ 

 

/DGLHV /RQJERZ� 
�VW $GULDQD�6SHLJKW 

 

/DGLHV�+LVWRULFDO� 
�VW�5HEHNDK�0XUUD\ 

 

/DGLHV�+\EULG� 
�VW�0DULO\Q�&OHUNH 

 

/DGLHV�5HFXUYH� 
�VW +HDWKHU�3HQGHU  �QG�/RUUDLQH 5H\QROGV 

 

-XQLRU�/RQJERZ� 
�VW�:LOOLDP�0DF0DPDUD 

 

&XE�/RQJERZ� 
�VW�6FRXW +HLPDQ 

 

$[H�&XE�� 
�VW�6FRXW�+HLPDQ 

 

$[H�7KURZLQJ�$GXOWV� 
�VW�+RZDUG�2
&RQQHOO �QG�0LFKDHO�0XUSK\ 

 

.QLIH�7KURZLQJ�$GXOWV� 
�VW�-DFN %ODFNDGGHU  �QG�+RZDUG�2
&RQQHOO 

 

&RQJUDWXODWLRQV WR�RXU�1$7,21$/�5(&25'�+2/'(56�)25����� 
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